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(8). For any Vectors U veC” and scalar zeC, prove wev=voL o (8%)

(9). Determine whether the vectors u,v and w are dependent or independent -  (8%)

u=(1,-2,3, 1) >

v=(3 2 L -2) + w=(l,6, -5, -4)

(10).Let T: R 5 R* be the linear mapping defined by T(x, y, 2)=(x+2y-z, y+z, X+y-2z)

Find a basis

and dimension of the (i)image U of T, (ii)Kernel ¥ of T, (16%)

(). Let 4= - Find all eigenvalues of A and the corresponding éigenvectors. (8%)
1 2 3

(12). Let 4=]0 2 3i. Is A similar to a diagonal matrix? [f so, find one such matrix. (8%)
0 0 3
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] 0.0°393) 0.0°137( 0.0°982] 0.0139) 3841 1 3502 1 4635 | 1479 1 J.org 6314 1 12506 | 3.8 §3.637
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4 0.207 | 0297 | 0484 | o713 9488 | naay | 13217 | 14880 ‘ 1.333 L 1176 10 4.604
s 0412 | 0ss4 | o3} L3 F110%0 ) 12.832 | i5i0s 16.750 s 1476 1018 IS 3363 <on
[ 0.676 1 01 L7 L o1eds {12592 | e 16.812 | 1x 34 6 (R 1.943 2447 L1y 1107
7 0.959 ; (B3 1690 | 2167 | 14067 | 16013 18475 | 20178 7 Lars 1.895 1363 2998 1| 1499
3 1.344 1.646 2180 2133 |isso1 ] 17.4)8 20.090 | 21938 L4 1.397 1.860 1,306 2.896 ).158
? 133 | 2088 3700 3325 [ 16919 | 19023 2.686 | 21589 k4 1.8y L33y 1262 | 28731 1250
10 2136 2358 PR 2} 3.940 118307 | 20485 | 23209 25188 10 Lin 1.812 1228 2.764 3169
1 2603 | 3o0s3 3816 | 4515 119675 | 11920 4715 | 26751 " 1,363 1.79¢ 2.201 s 3.106
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13 Jses Loaror' | 5009 | 5392 (22362 M6 | 17688 | 29019 | 13 1.350 L Lico 2.650 3002
14 4078 1 aec0 3.619 | 6310 133485 | 26119 | 29143 3319 1 14 1,343 1.761 Lias 2.624 1977
s 4,601 5.229 6262 | 1261 {2499 | 27.488 | 10578 3201 | 13 L4 1153 un 2602 | 2947
16 3.4 | 5813 6908 | 1962 2629 | .845 | 32000 14.267 16 1337 1.246 L0 2.58) Lo
17 3697 | s.408 7.364 | 3672 (22587 | 30,191 | 33409 Is.ng o 130 1.740 10 L3567 2.898
18 4265 | 1013 8.1 | 9.390 126869 | 31526 | visos Miss | 18 130 1734 1101 2552 e
19 6 814 ToN 5907 [10.117 [)0.144 | 32352 38,191 | 33.582 4 tim 1129 T1m9) 2539 2,844
0 TadM s ) ooser hossi 3o 34070 | 32.566 | 19.997 0 130 s 1086 L2 2343
b] 1oy ! $897 110.20) 1o {32671 | ys.479 8932 | ar401 g b Lan [R]] 1040 L8 28
n ey | 954y ioomr 1123|1392 J6.781 | 40.289 | 42,796 22 [BH] L L0%4 1508 Lae
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(D). —FERFEPE 2 BERK 2 G5k + (TIAGER - SOREMEREEZ = - (5%)

(). SYB—-ERTVERRY  URENS

f) ==y O0sys2

elsewhere

(a). ERF(y) +  (5%)
(0). BAGF (V) THBAGLE - (3%)

(3). 3zCanmafE I & IO T -

e -

. a=i 8 -
f(}')zyr(Tﬂd— ! ﬁ\:q:a N B>O ' OS)’SOO . E_r(a):L }r"'.e')’dy

BOREMALE . (8%)

(4. BBVar (V)= E(rY) - (E()) -
MU BN Y RS RBEVar(Y) = £(Y - 1) e (1%)

O) X—HERU BRSO ESLITARS|S - S4E B ZREHEEOR 2 T R AR IS F T

RESI4 - BigdeEs) . HETRFRMESTE ?
Ea=5% (8%)

(6). RRIBHATLEE Z ERR TR EA/FBi@Icn - REFRTRBURFELTHYE, N8 EES
EITRE  BEBEYAB2u BEEa =5%F - ZLFERTHE - (REBESEEIR)
(8%) )

(). XA B ERBEREZWEROTRITE - REHRREEZGE - (8%)
: (87 : fFERT)

i X y x* Xy 7

1994 2 16 _ - 4 32 16.4
1393 [ 13 ! 13 2.9
1992 0 10 0 0 9.4
1991 -1 6 l -6 5.9
1990 -2 2 q -4 2.4
#8F0 0 47 10 35




